P-III (1+1+1) G /21 (N)
2021
EDUCATION (General)
Paper Code : III - A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : [II[|A|& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : III - A

Full Marks : 30 Time

1.

Choose the correct answer.

Each question carries 2 marks.

Which of the following is the highest level of measurement?
(A) Ordinal Scale

(B) Nominal Scale

(C) Interval Scale

(D) Ratio Scale

S| SR @D ARCHT A 2

2.

(A) TP

(B) =1 o

(C) T P

(D) St b

The full form of NRT is —

(A) Norm Referenced Test

(B) Numerical Referenced Test
(C) Neutral Referenced Test
(D) Natural Referenced Test

2| NRT-4% 21 Fiifos o1 —

(A) Norm Referenced Test

(B) Numerical Referenced Test
(C) Neutral Referenced Test
(D) Natural Referenced Test

: Thirty Minutes
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3. Evaluation is useful for students because it
(A) Pressures
(B) Motivates
(C) Helps
(D) Encourages

o | IR oo SETIEY ST etAieE ke @t SivE

(A) 517 712
(B) czrme =elq
(C) =y
(D) T"
4. Which of the following is not a type of validity?
(A) Content
(B) Construct
(C) Predictive
(D) Test-Retest

8 | B (G IANLSIT 2Tl T2
(A) RaRRgare
(B) FRANGTLEEF

(C) SR ATl

(D) “frestArmepgeT

them.

I
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is/are the characteristics of a good test.
(A) Validity
(B) Reliability
(C) Objectivity
(D) All the above

= o werwid A

(A) TS

(B) f&atatarst
(C) tFifewel
(D) TR TRI0

is the best measure of Central Tendency.
(A) Mean
(B) Median
(C) Mode
(D) None of these

25 (PR AT AR T Te oifqwist |
(A) T®
(B) TSI
(C) e
(D) @AIDE T
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7. Second quartile is also known as
(A) Mean
(B) Median
(C) Mode
(D) None of these

a| R pedicd _______ qitve sfRibe |
(A) 78
(B) w4yl
©) @re
(D) @A T
8. Who developed the concept of 1.Q.?
(A) Alfred Binet
(B) L. M. Terman
(C) William Stern
(D) David Wechsler

vl (@ IR QRel MR 2
(A) SIS [T
(B) @&. @, B
(C) TEferm Fief

(D) (SfoT (SCERER
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9. Who propagated the method of Product Moment?
(A) Spearman
(B) Pearson
(C) Galton
(D) Guilford

S| (F (ATF GIGIT afod oaes Rl ?
(A) PRI
(B) formrzre
(C) =5
(D) foeTCzere

10. Which of the following is a measure of Co-efficient of correlation?
(A) Average Deviation
(B) Standard Deviation
(C) Quartile Deviation
(D) Rank Difference

So | GItha (I T2eifeq T=oNE-9F Il 2
(A) % i
(B) 0% pife
(C) voise Hfe
(D) E ALy
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11. To assess the performance at the end of instruction is —
(A) Placement Assessment
(B) Formative Assessment
(C) Summative Assessment

(D) Diagnostic Assessment

55 | U (<ICa “smi*fel wifsiiceia St 2o —

(A) Placement Assessment
(B) Formative Assessment
(C) Summative Assessment

(D) Diagnostic Assessment

12. What is the full form of CRC?
(A) Cumulative Record Card
(B) Criterion Record Card
(C) Construction Record Card
(D) Content Record Card

53| CRC-47 7j¢fawol 62
(A) Cumulative Record Card
(B) Ciriterion Record Card
(C) Construction Record Card
(D) Content Record Card
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13. Who is the propagator of non-directive counselling?
(A) Vygotski
(B) Brunner
(C) Kohler
(D) C. R. Rogers

SO | S R AROT ATEF BCET 7
(A) ©i2aG%
(B) @«
(C) (FIzeTg
(D) F1. ==, 7@t

14. Which is an example of mal-adjusted behaviour?
(A) Lying
(B) Temperament
(C) Truancy
(D) All of these
58 | I G (FID SoPRATTETE Sbae-a7 Twizgel —
(A) Fegt <=
(B) wtxene
(C) Fe1 Al
(D) el
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15. The cause of sexual offence is —
(A) Lack of emotional attachment
(B) Lack of sex education
(C) Inferiority
(D) All of these
S| (T SHARACKS Pl 2ol —
(A) CNCRI el
(B) (=7 =relq
(C) ETTTIN
(D) Tt el
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P-III (1+1+1) G /21 (N)
2021
EDUCATION (General)
Paper Code : III - B
[New Syllabus]

Full Marks : 70 Time : Two Hours Thirty Minutes

The figures in the margin indicate full marks.

A. Answer any fwo questions : 15%2=30

(1) What is essay type test? Mention the merits and demerits of essay type
test. 3+6+6=15

(2) What are the measures of variability? Calculate Quartile Deviation (QD)
from the following distribution :

Score|15-19(20-24|25-29|30-34|35-39({40-44|45-49|50-54|55-59
f 6 12 16 18 19 17 14 11 7

N =120
3+12=15
(3) Define guidance. Write the nature and scope of guidance. 3+6+6=15
(4) Define counselling. Discuss different types of counselling along with their
implication. 3+12=15
B. Answer any fwo questions : 10x2=20
(1) Write the utility of evaluation in education.
(2) Discuss the nature of evaluation.
(3) Write the needs of cumulative record card.

(4) How can school prevent maladjusted behaviour among students?
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C. Answer any four questions :

(1) Mention the steps of Counselling process.

(2) Write the differences between Individual and Group Counselling.

(3) What are the different types of correlation?

(4) Discuss the characteristics of a good test.

(5) Write a note on “Vocational Guidance”.

(6) What are the advantages of directive counselling?

5x4=20

(7) Calculate Mean and Median from the following ungrouped distribution :
6, 12, 14, 10, 13, 10, 5, 12, 8

(8) State the major causes of maladjustment.

BB

A @ Al 72 dra T wie

15%x2=30

(1) TS Srorwl e qHas worsR AR ¢ spyRdiefy S w6 |
3+6+6=15

(2) TErom sifmmiviaf [ o (FF 369 (AT vedied [Rpfe e s

Score|15-19(20-24(25-29|30-34(35-39(40-44(45-49|50-54|55-59
f | 6 | 12 | 16 | 18 | 19 | 17 | 14 | 11 | 7

N =120

3+12=15

(3) o el wie | MoER e R AREeR @il 3+6+6=15

(4) Arfig-ag wiceE me | [few g AT ) el gy A

S A | 3+12=15

B. @ (It w2fo 2rsw TR mie ¢ 10x2=20
(1) RERICssca SEDRCTR SIS (eTeal |

Page : 12 of 13



(2) RS AFhS SCEAB FCA |
(3) REEE @6 FEH ARG (0 |

(4) RweR Felm REAoR g SoPRgioTee Sibaed (@i 0o Al |

C. @ CIICA BIAD 2T T ne : 5%x4=20
(1) »RrmTe 2fET B T2 SrEr I |
(2) TS 8 WEse 2 I A1 (0 |
(3) zeifen aiaTem J Fie
(4) @35 ] SrorRT @IFE e
(5) Bt (oAt e o |
(6) =orF SRTICT ARk e
(7) e wiers qfmE @ e @ S T st
6, 12, 14, 10, 13, 10, 5, 12, 8
(8) SPRINOTETE SAbe-7 & PR (0l |
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